= AH O
N = 0 &8 AF S & Al A
01MEE =4 3 3 L83 1S ~ 284S
S e
Hz: ZOIXXMME J|BH2SH(HAIS)

Sl FOXXMEH 22 WASHUAEIS) (&2 &2
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
tHois 134,989 116,728 18,261
FOXXIHE DA (HAIS) 83,713 73,112 10,601

FORXIHE 29 WASH(HH1S) 83,713 73,112 10,601
SZ0IME |I Y AKX 29,448 17,737 11,711

401 Al S HI L 20| 22,811 11,100 11,711
01 Al&H] 22,811 11,100 11,711
O Hofel HeAIA a3 2,154,900 2,155 3,000 845

O SZT0IHHE FIIAME HE2A
23 7,900,000 7,900 8,100 A200
O SF0HEH s4 =3 A 16,700& =180 3,006 0 3,006
O SF0IHEH FHEZAAI 1A 9,750,000& 9,750 0 9,750
S .8y &sd| A& 52,840 53,950 A1,110
301 et AZ 52,840 53,950 A1,110
05S-2-taaEsga2 52,840 53,950 A1,110
(O=FS; 49,340 49,600 2260
- 394 AA 4,540,000 4,540 4,800 A 260
O B2 A 23 3,500,000 3,500 4,350 AB50
HM2AAH|(HA1S) 51,276 43,616 7,660
Jl2Zdl(tHH1s) 51,276 43,616 7,660
Jleddl(tdis) 51,276 43,616 7,660
201 L Bt2HH| 13,061 14,561 A 1,500
02 2229H| 8,027 9,527 A 1,500
O HI= ZA 3,010,000 3,010 3,980 A970
O o= ZAA 3,760,000 3,760 3,960 A200
O & - sz a3 270,000 270 600 A 330
405 XHAHRE S| 10,150 990 9,160
01 ML ESEFSHI 10,150 990 9,160
O FOUXXIS =24 zHAL 270,000 *8H 2,160 0 2,160
O e 3,000,000 = 1CH 3,000 0 3,000
O XA 4,000,000 = 1CH 4,000 0 4,000




N = 0l & AF & F Al A

M HAH2S
A QXX Dlg 2sH(HH2s)
el FUNXME 28 WASH(HH2S) (98

SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ
eies 103,408 102,688 720
FQIRX D18 2 5H(HH28) 62,895 61,095 1,800
FOUXXMEH 29 HASHHHE2S) 62,895 61,095 1,800
s FoUHH SA € 2 12,690 10,890 1,800
401 AIEHIZ S THYI 5,800 4,000 1,800
01 A& H] 5,800 4,000 1,800
O HOHABEJAIE &X Z& 2,800,000 2,800 1,000 1,800
HY2IZH(HA2S) 40,513 41,593 A1,080
23l (tees) 40,513 41,593 1,080
JlE2ddl(thees) 40,513 41,593 A 1,080
201 gEt=24Ed| 11,590 12,670 A 1,080
02 S==2gH| 6,574 7,654 21,080
O f#Ez Z& 2,280,000 2,280 2,400 2120
O &= Z& 2,640,000 2,640 3,600 2960




N = O &

Ab & & M A

M HH3S
HHM: =QUNIMEH D82 HH3S)
el FUNIMER2E WASHUH3S) (98
SN HM (B - MRAY - B2 01l &+ o pJE-1 HZ2
He3s 175,766 177,366 21,600
FORXIME I8 SHHH3S) 116,710 118,610 1,900
FOUXNXHNEHSYE LHASH(HA3S) 116,710 118,610 A 1,900
SF0ME =X R X2t 15,785 14,785 1,000
405 XtatE =l 1,000 0 1,000
01 HME =SS HSHI 1,000 0 1,000
O dold=gl g 1,000, 0003 *1CH 1,000 0 1,000
. g g3Hl XN& 99,500 102,400 A2,900
301 22 A= 99,500 102,400 2,900
058 -cl-tEEs2H3 99,500 102,400 /2,900
O etE=Ed Z& 9,600,000 9,600 12,500 A2,900
HH2AZHI(HHIS) 59,056 58,756 300
|23 HI(LHH3S) 59,056 58,756 300
Jl23H(tHe3s) 59,056 58,756 300
201 224 21,803 21,503 300
02 3244 14,279 13,979 300
O !#Ex Z& 6,300,000 6,300 6,000 300




N 2 0l & AF S E A A
RA OO
Ha: FOIXXIME BB 4S)
el JX}II@FJ 29 WA (tHe4s) (el =3
SA-E . S(E) - MEAY - BES 0l & o o1& o SImE=ET
tHe4s 138,334 130, 154 8,180
FORXIME IS HL4S) 93,819 84,139 9,680
FOXNXNAEH 28 HASHUH4S) 93,819 84,139 9,680
sFUHH |X ¥ Xtz 24,214 13,314 10,900
405 AHotE S HI 12,660 1,760 10,900
01 XML EZHSHI 12,660 1,760 10,900
O o= My 270,000 20K 5,400 0 5,400
O 2ods oAXt 30, 000& *50H 1,500 0 1,500
O SAHI 4,000,000& = 1CH 4,000 0 4,000
s - 2tE g3l 68,180 69,400 A1,220
301 et a3 68, 180 69,400 A 1,220
062 tEssELz 68, 180 69,400 21,220
(O=—F~, 60,780 62,000 N 1,220
- 2o =g 2% 4,780,000 4,780 6,000 A~ 1,220
HE2A LU (HH4S) 44,515 46,015 A 1,500
=2l (i e4s) 44,515 46,015 A 1,500
Jl=2ZHI(He4s) 44,515 46,015 A 1,500
201 L2 14,560 16,060 A 1,500
02 32244 8,916 10,416 A 1,500
O RE= 2 & 2,800,000& 2,800 3,600 A 800
O dJl= 23 4,430,000& 4,430 5,130 A700




= a
N = 0l & AF & F Al A
SA: THOi5E

HA: #I2AAY((5S)

£ol: 2P0l ((Hei5S) (el a9
SA-E . S(E) - MEAY - BES 01l &4 24 pJE-T {imE=Eh

s 114,947 113,647 1,300
HHY2AHHI(HHES) 47,320 46,020 1,300
Jl2dHl(iess) 47,320 46,020 1,300
Jl=2ZHI(tH¥5s) 47,320 46,020 1,300
201 get=24Ed| 16,351 15,251 1,100
01 AtR2tel 6,310 5,710 600
O get+=Ed| Z& 4,042,000 4,042 3,442 600
02 23244l 10,041 9,541 500
O 8= Z2& 3,300,000 3,300 3,000 300
O &Iz 2 & 5,000,000 5,000 4,800 200
405 KHatE =l 1,080 880 200
01 HME=SZHSHI 1,080 880 200
O s&4 =237/+7¢ 200,000 = 1CH 200 0 200




N = 0l & AF & F Al A

M HHd6s

M FOITAIME JIPsHH6S)

Sl EOITIME 2 A SHHOI6S) (el &
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 )= e B2
Hol6S 125,260 120,881 4,379
ZOIXIRIME B2 BH(THI6S) 79,725 78,925 800

ZOIXIXIME SHUIAEH(HO6S) 79,725 78,925 800
STOME 81 Y XLl 23,875 23,075 800

201 YBr2 | 6,545 5,745 800

02 B2l 5,161 4,361 800

O sHg(2¥32) 3F 2,570,000 2,570 1,770 800

S H 2 A (N I6S) 45,535 41,956 3,579
JI2ZHI(He6S) 45,535 41,956 3,579
2 ZHI(HH26S) 45,535 41,956 3,579
201 LBt | 14,432 13,553 879

01 AtR2t2It] 5,516 5,016 500

O Y28 A 3,500,0009 3,500 3,000 500

02 232l 8,916 8,537 379

O ®lz 2 4,800,002 4,800 4,571 229

O 4t+E2 233 510,008 510 360 150

202 018 17,900 19,200 A1,300

01 2UHOIH| 17,900 19,200 A1,300

O =g 2oty A 17,900,008 17,900 19,200 A1,300

405 X+ &HE St 4,880 880 4,000

01 LS EH S| 4,880 880 4,000

O =ZAI 4,000,002 1CH 4,000 0 4,000




N = 0l & AF & F Al A

2N 8318
MM FOXXME A (RE1S)
el FONXME 29 WAHESS1S) (cte: A
A -3 -H2A(SH) - HEAMY - BES Off AFH plpsgel: Hlns2t
2515 250,050 237,500 12,550
FOUXXME LA EHES1S) 170,600 160,600 10,000
FOXXIMEH 29 WASHEE1S) 170,600 160,600 10,000
SFOMEH SX Y HHA2(2F1S) 28,000 18,000 10,000
405 XFAHE SHI 10,000 0 10,000
01 AMLSEFSHI 10,000 0 10,000
O FUSEAY DY (436H) 6,000,000 6,000 0 6,000
O o2ay 242 (60ld) 4,000,000 4,000 0 4,000
HH2AHHI(ES1S) 79,450 76,900 2,550
cE2AHI(BE1S) 2,550 0 2,550
oA (2851S) 2,550 0 2,550
405 XHAHE SH 2,550 0 2,550
01 AMLSEFSHI 2,550 0 2,550
O M 42 AN 170,000 * 154 2,550 0 2,550




N & o & AF &2 H Ml A
2N 8528
IR FOIRX DB YEH(B528)

9l ZEOIRXI M %% LasH(8525) (Etel: & e
SAN-ZH-SA(FA) - NFAY - BES Off &F oK JE A Hlw &2
8528 160,870 141,920 18,950
FOIRR Jlgt YSHES2S) 113,280 94,980 18,300

FOUNXME 2% WasHES2S) 113,280 94,980 18,300
SFUME RN ¥ e 33,555 13,585 20,000

401 Al SHIL =20 H| 25,000 5,000 20,000
01 Al Hl 25,000 5,000 20,000

O SFOMH 25 stFa HBLTBA
7,000,000% 7,000 0 7,000
O SZEUME Al DA 13,000,000 13,000 0 13,000
£ 8 25y X2 78,300 80,000 A1,700
301 Y BAS 78,300 80,000 A1,700
5 -2 BEesSTA 78,300 80,000 A1,700
O st 2% 7,000,000 7,000 8,700 A 1,700
HHLSHAY(BS2S) 47,590 46,940 650
122 (8528) 47,590 46,940 650
JI2RH(8525) 47,590 46,940 650
405 X+ &HF S| 1,980 1,330 650
01 R LS ZH S| 1,980 1,330 650
O oIz ANY 250,000 * 1CH 250 0 250
O ®IIS4D|(AASHAE) 400,008 «1CH 400 0 400




= AH O

N = 0 &8 AF S & Al A
2A: 23S
M FOINXIME D)8 AsHEE3S)

Sl FOXXMEHESE WASHEE3S) (&2 &2
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
2353s 167,640 137,260 30,380
FOXXIHE Jler 23 (2233S) 120,157 89,777 30,380

FOXNXHAEH2Y HWasH=253s) 120,157 89,777 30,380
SZ0IME |XI Y ke 46,882 16,502 30,380
401 Al S HI L 20| 24,000 8,000 16,000

01 Al&H] 24,000 8,000 16,000

O & FOHH &EIIAEZBA 12,000,000 12,000 0 12,000
O S FOME gd3AF Y MHEA

4,000,000& 4,000 0 4,000

405 XHAHE S HI 16,380 2,000 14,380

01 ML =EFHSHI 16,380 2,000 14,380

O S FOIHEH HA L oX 2 13,130 0 13,130

- 9ol Al A 238,000 «25H 5,950 0 5,950

- 3|9/4&l oI X} 70,0002 704 4,900 0 4,900

- 242329 X 240,000 « 14 240 0 240

- AL} 170,000 « 124 2,040 0 2,040

O Zetzeld 1,000,000& = 1CH 1,000 0 1,000

O A3MY 250,000 1 CH 250 0 250




= AH O
N = 0 &8 AF S & Al A
A
PSES FBLI(E548)
CHe|: (2545) (&2 &2
A S (SH) - MEMY - BES Ol & oK J &= Hns
254 106,571 94,125 12,446
HE (2545) 54,718 42,272 12,446
23545) 54,718 42,272 12,446
(2545) 54,718 42,272 12,446
NEEL] 12,446 0 12,446
MNUSEFSH 12,446 0 12,446
DES A 4,000,000 = 1CH 4,000 0 4,000
22t 0l M Z Rl e 1,000,000 *1CH 1,000 0 1,000
g|olAl HIE P 4,956 0 4,956
- 39 Hol2 238,000 « 124 2,856 0 2,856
- oI Xt 70,0002 *3074 2,100 0 2,100
O siAl2 HIE 2 2,490 0 2,490
- SHAIE FHO0lA &Xt 99,000& 10K 990 0 990
- AL HO|A oI X} 30,000 504 1,500 0 1,500

10 -




N = 0l & AF & F Al A

SN BYS
M FOITX Y AsH(BUYES)
el FUMXIME SSUASHELSE) (B9 &2

[
2

109,841 99,291 10,550

Xl olgr 2sH(E8YS) 67,689 58,689 9,000
AXEE S2SUHAS 67,689 58,689 9,000

s FUdH 7 & 21,464 12,464 9,000
401 AIEHIZ S THYI 11,075 2,075 9,000

01 A& H] 11,075 2,075 9,000
QIAA HHE 4,000,000& 4,000 0 4,000

O AtR4 g 5,000,000& 5,000 0 5,000
HY2IZH(EES) 42,152 40,602 1,550
2ZH(8ES) 42,152 40,602 1,550
llga(ggs) 42,152 40,602 1,550
201 gEt2Ed| 12,629 12,129 500

01 AR 2telH] 5,516 5,016 500

O adEs = 500,000& 500 0 500

405 XHaHF SH 2,000 950 1,050

01 MM =ZHSH 2,000 950 1,050

O 24 Xt 35,000 =304 1,050 0 1,050

_11_




N = 0l & AF & F Al A

SN 2SS
M FOIRIXIME I B EH(ZOHS)

Sl FOIMIIME 29 LHASHZEHS) (el &
SH-EH . C(BH) - NRAY - BES Off &k [ =)e bRz
2A0HE 199,718 168,978 30,740
ZOIXERIME{ D BH BH(20H S) 149,193 116,693 32,500

RXIME 29 LHalsH 149,193 116,693 32,500
SFOME SN L XBRL 61,568 29,068 32,500
401 AlEHIL 2 THY| 25,700 5,700 20,000

01 Al&H] 25,700 5,700 20,000
O SA sz IEI210f B A

20,000,002 20,000 0 20,000

405 X443 S| 29,197 16,697 2,500

NETEEEEET 29,197 16,697 2,500

O slolaalx 70, 00024 %507H 3,500 0 3,500

O =ADI 3,000,002+ 14 3,000 0 3,000

O alolmzatze 1,000,002 14 1,000 0 1,000

O dired| 5,000, 00024 *1CH 5,000 0 5,000

HHSHFH(LPHE) 50,525 52,285 A1,760

JHI (20HS) 50,525 52,285 A1,760

=HHI(RHS) 50,525 52,285 A1,760

202 01t 24,640 26,400 A1,760

01 2UHOIH| 24,640 26,400 A1,760

O =& 2ol AN 24,640,002 24,640 26,400 A1,760
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N & o & AF &2 H Ml A
SN 2os
Ha: FUIKR 0P YH(L02S)

S9l: FOMXIME 2Y LHASHALRS) (e @
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 )= e B2
2A0r2s 128,737 106,937 21,800
ZOIRX D18 2EH(2ORS) 83,116 61,116 22,000

ZORNAME 29 WASHo2S) 83, 116 61,116 22,000
SXOME SX U X 33,941 11,941 22,000

401 A2 HIL 2O HI 24,000 2,000 22,000

01 Al& ] 24,000 2,000 22,000

O STOIME 24 U TMTA 22,000,0008 22,000 0 22,000
BHSHAY (A02S) 45,621 45,821 A200
2R (ZerRs) 45,621 45,821 A200
I (2 e0s) 45,621 45,821 A200
201 Yut2 | 16,418 17,618 A1,200

02 232l 11,138 12,338 A1,200

O e®a 23 1,800,000 1,800 2,200 A400

O ®lg 2 4,641,0002 4,641 5,441 800

405 Xt &HE St 1,680 680 1,000

01 Kt LS EH S| 1,680 680 1,000

O uagzs ZRIED) 1,000,0002! 1CH 1,000 0 1,000
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= O
M OZ Ol & AF S D A A
SN RS
HE: FOITXIME JIBAEH(SLIS)

Sl EOINXMH 2Y HASHLAIS) (el &
SH-EH . C(BH) - NRAY - BES Off &k [ =)e bRz
20H1S 118,277 113,199 5,078
ZOIRRIME JIPr2AEH(RAS) 78,058 71,950 6,108

ZONXIME 2E HASHSLIS) 78,058 71,950 6,108
STUMERT L X 17,488 1,380 6,108

401 AlEHIL 2 THY| 3,600 2,300 1,300
01 Al&H] 3,600 2,300 1,300
SZEOIME SBZMH(HFEZA S)

1,300,002 1,300 0 1,300
405 X443 S| 8,052 3,244 4,808
01 NI LS EHSH| 8,052 3,244 4,808

O oI1® 238 ZREI P
1,000,002 1CH 1,000 0 1,000

O FOUTA +AME aY
233, 00021 * 167 3,808 0 3,808
HH2HFH(RL1S) 40,219 41,249 A1,030
EETICENEY 40,219 41,249 A1,030
pICETIEERES 40,219 41,249 A1,030
201 YBr2 Y| 12,496 13,526 A1,030
02 ZZ2YH| 7,480 8,510 A1,030
O ®JI2 23 3,300,0002 3,300 4,330 A1,030
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N = 0l & AF & F Al A
SN 2815
HE: FOTXIME JIBAEHEHIS)

Sl EOINXMH 2Y HASHSSIS) (25l &2
SH-EH . C(BH) - NRAY - BES O AF o8 [ =)e bRz
281s 139,101 122,501 16,600
ZOIRRIME J|Pr2AsH(RH1S) 94,283 77,283 7,000

ZORIME 2Y HASHREIS) 94,283 77,283 7,000
SFUME 2K L xe 27,258 10,258 17,000

401 AlEHIL 2 THY| 18,900 1,900 17,000

01 Al&H] 8,900 1,900 17,000

O SA ZS(XAI) BA 17,000, 0002 17,000 0 17,000

HHS AL (2EIS) 44,818 45,218 A400
= ZH(281S) 44,818 45,218 A400
2 (281S) 44,818 45,218 A400
201 YEr2gY| 15,662 15,262 400

01 AtR 22l 6,043 5,643 400

O 2A2YII=4+8H| 2T 4,072,000 4,072 3,672 400

202 048 19,800 21,600 A1,800

01 20l b 19,800 21,600 A1,800

O =& 2Uoit) 23 19,800,0002! 19,800 21,600 A1,800

405 Xt &HE St 1,000 0 1,000

01 ML SEH SH) 1,000 0 1,000

O 2etZRiE 1,000, 00021 #1CH 1,000 0 1,000
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SN
X XH .
S Tt

el

At

A

[
2

rt
0y
=
0
N
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O O |
Ok
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02
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i
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= 40
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for

338 2,350,000

2 & 2,740,000
2 & 1,240,000
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N = 0l & AF & F Al A

2N 23S
BB FOIXGXIME |85 (283S)

CHol: FOITRIME SYLHASHSHIS) (Erol: &2
SN -EHH . (B) - MPAY - BE2 O] Ak 4 713 o HRE2
283 116,244 113,744 2,500
FOXXIME IS E83S) 73,711 71,211 2,500

FOIXNXNNEH 2SUWHASH(283S) 73,711 71,211 2,500
sFUHH |X ¥ Xtz 9,811 7,311 2,500

401 Al EHIZ 2 OhY| 2,000 0 2,000

01 Al£Hl 2,000 0 2,000

O ZOHQl BolAlA e 1,000,00024 1,000 0 1,000
SF0ME EA Y 1,000,000& 1,000 0 1,000

405 KtatE =S| 1,100 600 500

01 XAt =SEFH=HI 1,100 600 500

O HE=EE s=gdtt 500,000& 500 0 500
HY2IHH(283S) 42,533 42,533 0
=Y (283S) 42,533 42,533 0
=Y (283S) 42,533 42,533 0
201 get2Ad| 14,010 15,010 A 1,000

02 2324l 8,994 9,994 A 1,000

O &=z Z2& 4,100,000 4,100 5,100 A 1,000

405 KHatE =S| 1,000 0 1,000

01 XA =SZFH=HI 1,000 0 1,000

O dolMEZgH 1,000,000 *1CH 1,000 0 1,000
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N =

284S
FOXXIME DA 284S)

FOAUXNXME 29 HasHR4S) 9 A
SH-ZH A AH) - MRAS AF oK &2
2845 122,377 116,577 5,800
FOXXME ILHAeH284S) 79,930 72,830 7,100
FOXXIME 29 WASH284S) 79,930 72,830 7,100

SFOME |X L T2 22,970 15,870 7,100
201 L2 A 12,705 12,205 500

02 =329l 11,322 10,822 500

O ™=l %2l 250,000 «2CH 500 0 500

401 A& H| 2 20H 9,600 3,000 6,600
01 Al&H] 9,600 3,000 6,600
O 2t01& D &X 2,200 0 2,200

O 0I=& &xX 440,000 * 1074 4,400 0 4,400
HH2HHH(2845) 42,447 43,747 A 1,300
ZUl(2845) 42,447 43,747 A1,300
2L (284S) 42,447 43,747 A1,300
202 01| 17,900 19,200 A 1,300
01 204l 17,900 19,200 A1,300
O =g 201yl 23X 17,900,0002 17,900 19,200 A1,300




